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1) Find the percentage change from 2 to 2) 127,15, 3)  Convert the following mixed number
21 91, into an improper fraction.
Answer: Answer: Answer:
4)  Simplify 8:3 5) 6)
19 Find Volume of
/21 Triangular Pyramid
21 21 '‘Name the type of angle.
20
Answer: Answer: Answer:
7 (-13) x (-10) 8) (-13) x (-10) 9 (-3) x5
Answer: Answer: Answer:
10) (-168) + (-12) 11) \ 12) 25% of 22
Name the type of angle.
Answer: Answer: Answer:
13) Anamount wasincreased by 1% to 14)  Anamount wasincreased by 1% to 15) g - g
$457.00. Find the original amount. $457.00. Find the original amount.
Answer: Answer: Answer:
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16) g - g 17) Find area of 18) A number is chosen at random from
b rectangle having 1 to 25. Find the probability of
sidesa=100in selecting even number.
a andb=59in
Answer: Answer: Answer:
19) 5%+ 6, 20) 6/ x 9y 21)  Find the percentage change from 5 to
21
Answer: Answer: Answer:
22) Find the mean of the following set of data: 23) 458-411 24) Find peri meter of
19, 3,19, 10 square having each
s side (s) equals 46 in
s
Answer: Answer: Answer:
25) A number was shared in theratio 26) 27) 16.72+ 7.6
7:11. The smaller share was 28.
What was the larger amount?
A =57 B
Find the Angle at side B.
Answer: Answer: Answer:
28) Decresse 35 by 2/7 29) Convert the following fraction into a 30) Find area of square
mixed number: 19/ having each side (s)
s equals 14 in
s
Answer: Answer:
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31) Find area of square
having each side (s)
s equals14in

Answer:

32) 92-2-15

Answer:

33) A number was shared in theratio
8:4. The larger share was 20. What
was the smaller amount?

Answer:

34) Convert the following fraction into a
mixed number: 14/,

35) A number was shared in theratio
15:3. The smaller share was 5. What
was the larger amount?

36) 15+18+9

Answer: Answer: Answer:
37) Decrease 210 by 1/35 38) Find area of 39) Find perimeter of
triangle b rectangle having
b b a=94in,b=95in sidesa=71ft

a andb=70ft

Answer: Answer: Answer:
40) 9 5X 9 5 41) Find the range of the following set of data: 42) 17.7x 27.3
8,4,4,2,3,10,1,08,5,8
Answer: Answer: Answer:
43) 4/6 X 4/6 44) Find the range of the following set of data: 45) Find the median of the following set of data:
9,0.6,0.3 29,8, 23, 38,5, 18, 16
Answer: Answer: Answer:
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46) 33233+ 16.7

47) 33233+ 167

48) Find the range of the following set of data:
9,04

a andb=27m

Answer:

a andb=27m

Answer:

Total: /50
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Answer: Answer: Answer:
49) Find perimeter of 50) Find perimeter of
b rectangle having b rectangle having
sidesa=66m sidesa=66m

http://www.geekschool.co.uk



http://www.geekschool.co.uk

Name:

December 14, 2021

1) 950%
8)
15) %,
22) 12.75

3
29) 2%/
36) 42

4

43) 4
50) 186m

2) 2%,
9

16) %,
23)47
30) 196in
37) 204
44) 8.7

3) %6/

10) 14

17) 5900in

24) 184in

31) 196in

38) 3826.1002339196in
45) 38

Copyright 2021 - Geek School Tutoring Limited

Answers:

4)8:3
11) Acute
18) 1%/
25) 44
32) 64
39) 282ft
46) 19.9

5) 1330
12)55
19) 84
26) 123
33) 10
40) 3%/
47)19.9

Sr: 14122021-2448

MATHS WORKSHEET

6) Right
13) $452.48
20)2
27)2.2

34) 3%,
41) 9.2

48) 8.6

11-PLUS

SATS .
GCSES

7)

14) $452.48
21) 320%
28) 25

35) 25

42) 48321
49) 186m
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